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APRJC MODEL PAPER

(Hï³BÆŠægôæïÜ Ððl*yýlÌŒæ õ³ç³ÆŠæ)

1. The truth value of p⇒q is 'F', So the truth value of ~q⇒~p will be [    ]

1) T 2) F 3) Both 4) None

� p⇒q {ç³Ð]l è̂l ]̄l… çÜ™èlÅÑË$Ð]l 'F' AÆ‡¬™ól ~q⇒~p {ç³Ð]l è̂l ]̄l çÜ™èlÅÑË$Ð]l?
1) T 2) F 3)T, F 4) H©M>§ýl$

2. The Statement for 'Tautology'

� MìS…¨ ÐésìæÌZ ç³# ]̄lÆý‡$MìS¢ {ç³Ð]l è̂l ]̄l…? [    ]

1) p∨(∼p) 2) p∧(∼p) 3) ∼ (p∧q) 4) ∼ (p ∨ q)

3. A, B are two sets, the condition to become disjoint sets is?

� A, B A ó̄l Æð‡…yýl$ çÜÑ$™èl$Ë$ ÑÄ¶æ¬MýS¢ çÜÑ$™èl$Ë$ M>Ð]lyé°MìS °Ä¶æ$Ð]l$…? [    ]

1) A∪B=φ 2) A∩B=B 3) A−B=φ 4) A−B=Α

4. Elements in the sets A, B, C are given. From the following Venn diagram
n(A∪B∪C)=?

� A, B, C çÜÑ$™èl$ÌZÏ Ð]lÊËM>Ë$ C^éaÆý‡$. MìS…§ýl ]̄l$ ]̄l² Ððl Œ̄æ yýlÄ¶æ*{VýSÐŒl$ ]̄l$…_ n(A∪B∪C) = ?

[    ]

1) 33 2) 14 3)28 4)19 

5. A⊂ B; B ⊂ C ⇒ A⊂C, This is___? [    ]
1) Commutative property 2) Associative Property

3) Idempotent Property 4) Transitive property

� A⊂ B; B ⊂ C ⇒ A⊂C A ó̄l «§ýlÆý‡Ã…___?

1) Ñ°Ð]l$Ä¶æ$ «§ýlÆý‡Ã… 2) çÜçßæ è̂lÆý‡ «§ýlÆý‡Ã…
3) Aç³Ð]lÇ¢™èl «§ýlÆý‡Ã… 4) ÝûçÙtÐ]l «§ýlÆý‡Ã…
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6. Let f be given by f(x)= x+2 and f has domain {x: 2 ≤ x ≤ 5}, Then domain of f−1

is___?

� f(x)= x+2  A° °Æý Ó_™èlOÐðl$ ]̄l {ç³Ðól$Ä¶æ$ {ç³§ólÔ¶æ… {x: 2 ≤ x ≤ 5} AÆ‡¬™ól f−1 {ç³§ólÔ¶æ…? [    ]

1) {y: 7 ≤ y ≤ 4} 2) {y: 4 ≤ y ≤ 7} 

3) {y: 5 ≤ y ≤ 7} 4) {y: 6 ≤ y ≤ 7}

7. Which of the following graphs correspond to function? [    ]

� MìS…¨ ÐésìæÌZ {ç³Ðól$Ä¶æ*°² çÜ*_… ó̂l Æó‡Rê_{™èl…?
1) 2) 

3) 4)

8. Which of the following function is not inverse?

� MìS…¨ ÐésìæÌZ H {ç³Ðól$Ä¶æ*°MìS ÑÌZÐ]l$… E…yýl§ýl$? [    ]

1) {(x, y): y=x2−1} 2) {(x, y): y=2x}

3) {(x, y): y=2x−1} 4) {(x, y): y=x5}

9. [    ]

1)  1 2) 3) 4) 

10. Find the zeros of the following function? [    ]

� MìS…¨ {ç³Ðól$Ä¶æ$ Ô¶æ* ]̄lÅ ÑË$Ð]lË$?

1) {a, a} 2) {−a, −a} 3) {−a, 0} 4) {−a, a} 

1

3
3

2

1
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sin x
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11. x2+x−5 = (x+3)(x−2)+k ⇒k=? [    ]

1) 2 2) −1 3) 1 4) −2

12. If one root of x2−px+8=0 is 4, then p=___?

� x2-px+8=0 JMýS Ð]lÊË… 4 AÆ‡¬™ól p=___? [    ]

1) 4 2) −6 3) −4 4) 6

13. The term independent of x in the expansion of    [    ]

1) 36C6 2) 36C9 3) 36C18 4) None

�
ÑçÜ¢Æý‡×æÌZ x Ìôæ° ç³§ýl…___?

1) 36C6 2) 36C9 3) 36C18 4) H© M>§ýl$

14. If a and b are unequal and x2+ax+b and x2+bx+a have a common factor then [    ]

� a, bË$ çÜÐ]l* ]̄l… M> ]̄lç³#μyýl$ x2+ax+b, x2+bx+a ËMýS$ JMóS EÐ]l$Ãyìl Ð]lÊË… E ]̄l²rÏÆ‡¬™ól
°Ä¶æ$Ð]l$…?
1) a+b=1 2) a-b=1 3) a+b+1=0 4) ab+1=0

15. If 6x2−5x+1<0, the solution set is ___?

� 6x2−5x+1<0 Ýë«§ýl ]̄l çÜÑ$†? [    ]

1) 2) 3) 4) 

16. Which of the following is not a convex set? [    ]

� MìS…¨ ÐésìæÌZ H¨ MýS$…¿êM>Æý‡ çÜÑ$† M>§ýl$?

17. If 2x+y≥  10 and x+2y≥  10 then minimum value of F=x+y is___? [    ]

� 2x+y≥  10, x+2y≥  10 AÆ‡¬™ól F=x+y MýS°çÙt ÑË$Ð]l?

1) 10/3 2) 20/3 3) 0 4) 
1

6
3

1 1
x / x

6 3
⎧ ⎫< <⎨ ⎬
⎩ ⎭

1 1
x / x

5 2
⎧ ⎫< <⎨ ⎬
⎩ ⎭

1 1
x / x

2 3
⎧ ⎫< <⎨ ⎬
⎩ ⎭

1 1
x / x

3 2
⎧ ⎫< <⎨ ⎬
⎩ ⎭

36
1

x
x

⎛ ⎞+⎜ ⎟⎝ ⎠

36
1

x is ___?
x
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www.sakshieducation.com

www.sakshieducation.com

1) 2) 3) 4)



S
A
K
S
H
I

18. If 
[    ]

� - AÆ‡¬™ól x ÑË$Ð]l?

1) −4 2) 0 3) −3/4 4)  −4/3

19. [    ]

� AÆ‡¬™ól x ÑË$Ð]lË$?

1) 2) −12, −18 3) 4) −4, −6

20. [    ]

1) 16a15/4 2) 3) 4) 

21. The A.M of two numbers is 9, their H.M. is 16 then G.M is___? [    ]

� Æð‡…yýl$ çÜ…QÅË A…MýSÐ]l$«§ýlÅÐ]l$…, çßæÆ>™èlÃMýS Ð]l$«§ýlÅÐ]l$… Ð]lÆý‡$çÜV> 9, 16 AÆ‡¬™ól VýS$×æ
Ð]l$«§ýlÅÐ]l$…___?

1) 144 2) 16 3) 9 4)12 

22. If in a G.P. the first term is 5, its sum to infinity is 6, then r=____? [    ]

� VýS$×æ{ÔóæÉìl Ððl¬§ýlsìæ ç³§ýl… 5, A ]̄l…™èl ç³§éË Ððl¬™èl¢… 6 AÆ‡¬ ]̄l ÝëÐ]l* ]̄lÅ °çÙμ†¢  r=____?

1) 2) 3) 6 4) 

23. If 'n' A.M.s are inserted in between a and b then the sum of the total terms is? [    ]

� a, bË Ð]l$«§ýlÅ n A…MýSÐ]l$«§ýlÅÐ]l*Ë ]̄l$ E…_ ]̄l B {ÔóæÉìl Ððl¬™èl¢…_____?

1) 2) 3)  4) 
(n 2)(a b)

2

+ −n(a b)

2

+n(n 1)

2

+(n 2)(a b)

2

+ +

6

5

1

6

5

6

13
4

3

16a

13
416

a
3

15
4

1

16a

3 3
4 4

4 4x a

x a
lim ?

x a→

− =
−

14 16
,

3 3

−14 16
,

3 3

− −

x
If 5 1

3
+ =

x
If 5 1then values of x are ___?

3
+ =

x 2
x 1

1
3

9
+

+=

x 2
x 1

1
3 then x ?

9
+

+= =
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24. If b+c, c+a, a+b are in H.P. then a2, b2, c2 are in ? [    ]

� b+c, c+a, a+b Ë$ çßæÆ>™èlÃMýS {ÔóæÉìlK E…sôæ a2, b2, c2 Ë$____{ÔóæÉìlÌZ E…sêÆ‡¬?
1) A.P. 2) G.P. 3) H.P. 4) None

25. If the sum of the first 'n' natural numbers is S1, that of their squares is S2 and that of

their cubes is S3 then 9S2
2= ___? [    ]

� Ððl¬§ýlsìæ çÜçßæf çÜ…QÅË Ððl¬™èl¢… S1, Ðésìæ Ð]lÆ>YË Ððl¬™èl¢…S2 Ðésìæ çœ$¯éË Ððl¬™èl¢…S3 AÆ‡¬™ól
9S2

2= ___?

1) S3
2 2) S2(1+8S1) 3) S3(1−8S1) 4) S1(1+8S3)  

26. In ΔABC, AD ⊥ BC, ∠A=90o Then ___? [    ]

� ΔABC ÌZ AD ⊥ BC, ∠A=90o AÆ‡¬™ól?
1) AB2=BD.BC 2) AD2=AB.AC

3) AC2=AB.AD 4) AD.AC=BD.BC

27. The incircle of ΔABC, touches the sides of the triangle AB, BC, CA in P, Q, R. Then
AP+BQ+CR=____? [    ]

� ΔABC A…™èlÆý‡Ð]l–™èl¢…, §é° ¿¶æ$gêOÌñæ ]̄l AB, BC, CAË ]̄l$ P, Q, RË Ð]l§ýlª çÜμ–ÕçÜ$¢…¨. AÆ‡¬™ól
AP+BQ+CR=____?
1) AB+BC+CA 2) 2(AB+BC+CA)

3) ½(AB+BC+CA) 4) 4(AB+BC+CA)

28. AD is the bisector of ∠A, if AB= 8cm, BD=5cm, DC= 4cm, then AC=___? [    ]

� ΔABC ÌZ ∠A Mø×æ çÜÐ]l$¨ÓQ…yýl ]̄l Æó‡Q AD, AB=8 cm, BD=5cm, DC= 4cm AÆ‡¬™ól
AC=?

1) 6cm 2) 6.4cm 3) 6.2cm 4) 6.5cm

29. From the figure value of x is___? [    ]

� ç³MýSP ç³r… ]̄l$…_ x ÑË$Ð]l?

1) 25 2) 3 3) 2 ¼ 4) 2√2
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30. Two circles of radii 5cm, 6cm touch externally length of direct common tangent is
___? [    ]

� 5cm, 6cms ÐéÅÝëÆ>®Ë$V> E ]̄l² Ð]l–™é¢Ë$ »êçßæÅ…V> çÜμÇØ… è̂l$MýS$¯é²Æ‡¬. AÆ‡¬™ól Ðésìæ {ç³™èlÅ„ýS
EÐ]l$Ãyìl çÜμÆý‡ØÆó‡Q ´÷yýlÐ]l#?
1) 12 2)  10 3) √30 4)2√30

31. (p+1)x+(p+2)y+ (p+3)=0 passes through (1, 1) then 2p+5=___? [    ]

1) 0 2) -2 3) 1 4) None 

� (p+1)x+(p+2)y+ (p+3)=0 çÜÆý‡â¶æÆó‡Q (1, 1) ¼…§ýl$Ð]l# §éÓÆ> ´ù™ól 2p+5 ÑË$Ð]l?
1) 0 2) -2 3) 1 4) H© M>§ýl$

32. One point of trisection of the line joining the points (2,3), (6, 5)? [    ]

� (2,3), (6, 5) ¼…§ýl$Ð]l#Ë ]̄l$ MýSÍõ³ çÜÆý‡â¶æÆó‡QMýS$ JMýS çÜÐ]l${†Q…yýl ]̄l ¼…§ýl$Ð]l#?

1) 2) 3) 4) (10, 11)

33. If (1, 5) is mid point of the joining (-5, 3), (7, k) then k=___? [    ]

� (-5, 3), (7, k) ¼…§ýl$Ð]l#Ë ]̄l$ MýSÍõ³ çÜÆý‡â¶æÆó‡Q Ð]l$«§ýlÅ ¼…§ýl$Ð]l# (1, 5) AÆ‡¬™ól k ÑË$Ð]l?
1) -7 2) 7 3) 5 4)  -1

34. The equation of the line passing through (4, 3) and perpendicular to 2x+3y+7=0
is___? [    ]

� (4, 3) ¼…§ýl$Ð]l# §éÓÆ> ´ù™èl* 2x+3y+7=0 MýS$ Ë…º…V> E…yól çÜÆý‡â¶æÆó‡Q çÜÒ$MýSÆý‡×æ…?
1) 2x+3y+17=0 2) 3x-2y+6=0 3) 3x-2y-6=0 4) 2x-3y+17=0

35. The equation of the straight line making equal intercepts on axes and passing through
(2, 3)is___? [    ]

� (2, 3) ¼…§ýl$Ð]l# §éÓÆ> ´ù™èl*, °Æý‡*ç³MýS A„>ËOò³ çÜÐ]l* ]̄l A…™èlÆý‡Q…yéË$ ó̂lõÜ çÜÆý‡â¶æÆó‡Q
çÜÒ$MýSÆý‡×æ…___?

1) x+y=1 2) x+y=5 3) x-y=5 4) x-y=1

36. If the mean of p, 1/p is q. then the mean of p3 , 1/p3 is___? [    ]

� p, 1/p Ë A…MýSVýS×ìæ™èl çÜVýSr$ q AÆ‡¬™ól p3, 1/p3 Ë A…MýSVýS×ìæ™èl çÜVýSr$?

1) 8q3−3q 2) 3) q3+3 4) 4q3-3q 
38q 3q

2

−

11
10,

3
⎛ ⎞
⎜ ⎟⎝ ⎠

10
,11

3
⎛ ⎞
⎜ ⎟⎝ ⎠

10 11
,

3 3
⎛ ⎞
⎜ ⎟⎝ ⎠
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37. Observation of some data are . where x>0. If the median data is 8, the
value of x is___? [    ]

� JMýS ç³ÇÖË¯é…Ô¶æ  §ýl™é¢…Ô¶æ… . Ðésìæ Ð]l$«§ýlÅVýS™èl… 8 AÆ‡¬™ól x ÑË$Ð]l(x>0)?
1) 32 2) 24 3) 8 4) 15

38. If the mean = 2p+q, median = p+2q, then mode=? [    ]

� JMýS §ýl™é¢…Ô¶æ… çÜVýSr$= 2p+q, Ð]l$«§ýlÅVýS™èl… = p+2q AÆ‡¬™ól »êçßæ$â¶æMýS… ?
1) 4p−q 2)4q−p 3) 4p+q 4) 4q+p

39. [    ]

1) 2) 3) 4) 

40.
[    ]

1) 2)  3) 4) None

41. [    ]

1) sinθ 2) cosθ 3) secθ 4) cosecθ

42. cos 120o+cos 240o=____? [    ]

1) 0 2) 1 3) -1 4) 2

43. A ladder 20m long is placed against a vertical wall of height 10 mts, the distance
between the foot of the ladder and the wall___? [    ]

� 20Ò$. ´÷yýlÐ]l# E ]̄l² ° ð̂la ]̄l ]̄l$ 10m G™èl$¢ÌZ VøyýlMýS$ B°õÜ¢, ° ð̂la ]̄l Ayýl$VýS$ ¿êV>°MìS, VøyýlMýS$
Ð]l$«§ýlÅ §ýl*Æý‡…?
1) 10√3m 2) 5√3m 3)20√3m 4) 15√3m

44. If A= ; B= Then BT−AT =___? [    ]

� A= ; B= AÆ‡¬™ól BT−AT =___?

1) 2) 3) 4) 
1 0

0 1

⎡ ⎤
⎢ ⎥
⎣ ⎦

0 2

9 1

⎡ ⎤
⎢ ⎥−⎣ ⎦

2 3

4 5

⎡ ⎤
⎢ ⎥
⎣ ⎦

1 1

2 3

−⎡ ⎤
⎢ ⎥
⎣ ⎦

4 9

3 2

⎡ ⎤
⎢ ⎥
⎣ ⎦

4 0

1 3

⎡ ⎤
⎢ ⎥
⎣ ⎦

4 9

3 2

⎡ ⎤
⎢ ⎥
⎣ ⎦

4 0

1 3

⎡ ⎤
⎢ ⎥
⎣ ⎦

2
2 2

1 1
sin ___?

sec tan
+ θ + =

θ θ

( )( )
k

k 1 k 1+ −
k

k 1−
k

k 1+

2

1
sin k ____?

1
sin 1

1 cos

θ = ⇒ =
⎛ ⎞θ −⎜ ⎟− θ⎝ ⎠

2 2

b

a b+2 2

a

a b+2 2

b

a b+2 2

a

a b+

a
tan ,cos ___?

b
θ = θ =

x x x x
,x, , ,

5 4 2 3

x x x x
,x, , and

5 4 2 3
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45. If  the values of x, y are___? [    ]

� AÆ‡¬™ól x, y ÑË$Ð]lË$?
1) 3, 0 2) 0, 3 3) 3, 1  4) 1, 3 

46. A= ; B= then AB=___ ? [    ]

1) A 2) B 3) 4) None

� A= ; B= AÆ‡¬™ól AB=___ ?

1) A 2) B 3) 4) H©M>§ýl$

47. If A= ; B= and (A+B)2=A2+B2 then a =____? [    ]

� A= ; B= , (A+B)2=A2+B2 ) AÆ‡¬™ól a =____?

1) − 4 2) − 1 3)  4 4) 1

48. If B= , then B+B−1=_____? [    ]

� B= AÆ‡¬™ól B+B−1=_____?

1) 2I 2) 3I 3) 4I 4) I 

49. The computers now used are called____? [    ]
1) Babbage computers 2) Newman Machines

3) Libney computers 4) Pascal machines

� B«§ýl$°MýS VýS×æ ]̄l Ä¶æ$…{™éË ]̄l$ ____ A…sêÆý‡$?
1) »ê»ôæ¾h MýS…ç³NÅrÆý‡$Ï 2) ]̄l*ÅÐ]l$ Œ̄æ Ä¶æ$…{™éË$
3) OÌñæ¼²gŒæ Ä¶æ$…{™éË$ 4) ´ëçÜPÌŒæ Ä¶æ$…{™éË$

50. One of the computer language is ___? [    ]

1) English 2)  German 3) French 4) BASIC

� MýS…ç³NÅrÆŠæ ¿êçÙÌZÏ JMýS ¿êçÙ ___?

1) C…WÏ‹Ù 2) fÆý‡Ã Œ̄æ 3) {òœ… Œ̂æ 4) BASIC

1 2

1 3

⎡ ⎤
⎢ ⎥
⎣ ⎦

1 2

1 3

⎡ ⎤
⎢ ⎥
⎣ ⎦

a 1

b 1

⎡ ⎤
⎢ ⎥−⎣ ⎦

1 1

2 1

−⎡ ⎤
⎢ ⎥−⎣ ⎦

a 1

b 1

⎡ ⎤
⎢ ⎥−⎣ ⎦

1 1

2 1

−⎡ ⎤
⎢ ⎥−⎣ ⎦

5 3

7 1

⎡ ⎤
⎢ ⎥−⎣ ⎦

0 1

1 0

⎡ ⎤
⎢ ⎥
⎣ ⎦

3 5

1 7

⎡ ⎤
⎢ ⎥−⎣ ⎦

5 3

7 1

⎡ ⎤
⎢ ⎥−⎣ ⎦

0 1

1 0

⎡ ⎤
⎢ ⎥
⎣ ⎦

3 5

1 7

⎡ ⎤
⎢ ⎥−⎣ ⎦

( ) [ ]2 3
x y 6 10

0 1

⎡ ⎤
=⎢ ⎥

⎣ ⎦

( ) [ ]2 3
x y 6 10

0 1

⎡ ⎤
=⎢ ⎥

⎣ ⎦
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1) 2 -2) 1 -3) 4 -4) 1 -5) 4 6) 2
-7) 1 -8) 1 -9) 1 -1-0) 4 11) 3 -1-2) 4
1-3) 3 -1-4) 3 -1-5) 1 16) 3 -1-7) 2 -1-8) 4
-1-9) 2 -2-0) 4 21) 4 -2-2) 2 -2-3) 1 -2-4) 1
-2-5) 2 26) 1 -2-7) 3 -2-8) 2 -2-9) 3 -3-0) 4
31) 3 -3-2) 1 -3-3) 2 -3-4) 3 -3-5) 2 -3-6) 4
-3-7) 2 -3-8) 2 -3-9) 4 -4-0) 3 41) 4 4-2) 1 -
43) 1 -44) 3 -45) 3 46) 3 4-7) 4 4-8) 3 -
49) 2 -50) 4
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